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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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['ETcl’, "optETcl’], 'LAl', ’optEtRate’]

['T", "Topt’], ['RH', 'RHopt'],
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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G3-3

BYiE) | EBATK (F) | EHE (EH/&) | EBRERE B/ R = R

06:55 175 100.0 2.16 Z| 1BRi%e06:55 Bzh (REERSE)
07:55 175 100.0 2.16 Z| {Rige07:55 B (REAEZEBE)
09:35 175 100.0 2.16 FA| 1B2i%@09:35 B3zh (kAB{EREZE)
11:40 175 100. 0 2.16 FH| {Ri%et11:40 BHzh (RAERESE)
2it| 700.0 (4%) 400.0 FEWUHKEC: 3000, PH: 6.4

MERMEAEH YR E, i B RPHA BI46.5,10.5,6.5, REKK
FEREBIPH (10.53) 5i&EPH (6.5) REK K, FHRE
RERJERIPH (10.53) 5FMPH (6.5) REKK, HFRE

RRAE Y S RIFEMPH 6. 42

FRBIFE NS R IFEREC 2875.0
LOREBIEC (2537.0) 5H#EAEIEY (3000) REKK, BRE.
LRGEBIPH (10.5) 5i&8FEE (6.5) REKK, BFRE.
LORGEBIPH (10.5) S5#RAIEN (6.4) REKK, BRE.
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BYiE) | GEBIATK () | EHME (EH/H) | EBRERE (B/R) | XK R

06:15 175 100.0 2.16 [8=| {Rige06:15 Bzl (RAFEHSE)
07:15 175 100.0 2.16 |Z=| {Ri%e07:15 Bz CGREAEZEBE)
08:15 175 100.0 2.16 |Z=| {Ri%e08:15 Bzl (KREEZERSE)
09:15 175 100.0 2.16 |Z=| {Ri%e09:15 Bz (REAZBE)
10:40 175 100.0 2.16 FA| 1B2i%@10:40 B3zh (RABIERSE)
13:25 175 100.0 2.16 FA| {Ri%@13:25 Bz (CGkRAERESE)
14:40 175 100.0 2.16 FA| 1BRi%@14:40 B3h (KRAHERESE)
2i3t[1225.0 (7% 700.0 3EGHKEC: 3000, PH: 6.5

unusual large postFgEt from yesterday (339), set to 300.0 ml.

REXTEREHLAYILE, M R HE&PHS 31 46.5,10.0,6.5, REKKX
FEXREBIPH (10.03) 5i&EPH (6.5) fREK K, FHAE
FEXREIPH (10.03) 5FPH (6.5 REKK, BT

RS RIFERPH 6.5

REZ NS RIFREC 2250.0
LRGEBPH (10.6) 51REE (6.5 RERK, HHE.
ERGEBPH (10.6) SHEEEEIY (6.5 WMERK, HHRE.
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G3-3

BfiE) | GEBEATIC () | ERE (EH/f) | ERERE (B/R) | XS ERE

05:50 263 100.0 2.16 FA| 1B2i%@05:50 Bzh (kAB{ERESE)
06:50 263 100.0 2.16 FA| {Ri%@06:50 Bz (kAMEEE)
07:50 263 100.0 2.16 FA| 1BRi&@07:50 B3h (FKAIEREEE)
09:45 263 100.0 2.16 FA| 1BRi%@09:45 B3zh (kAR
13:30 263 100.0 2.16 FH| 1Ri%e13:30 BHzh (RAERESE)
14:40 263 100.0 2.16 FA| 1BRi%@14:40 B3h (RAHERSE)
Bt 1578.0 (6%) 600. 0 ZHKEC: 3000, PH: 6.5

ERGERBTC R IR AR B (263 vs 175.0))

2RI\ L PRIERE150. 0 ml.

MERMEAEHB9IRE, i B RPHA B 46.5,10.3,6.5, RERK
RERERIPH (10.29) 5i&EPH (6.5) REK K, HFRE
BEXRERIPH (10.29) 5FMPH (6.5) REK K, HRE

RAE NS KFHRPH 6.5

REE NS RIFHIREC 2250. 0
EORGEEBREC (2312.0) SHEAIEN (3000) REKR K, BHRE.
LORGEBIPH (9.8) H5igEE (6.5 REKK, BHE.
LORGEBIPH (9.8) S5#EEUEI (6.5) REKK, BHRE.
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